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CEEESE R X RS AW d (v, y) — d(x,y).d i
(@) FEME: Yo,y € X, d(x,y) > 0

(b) X‘j‘%f(‘lﬂf Vr,y € X,d(.%', y) = d(y,x);

© =AAEX: Ve, y, 2z € X, d(z,2) < d(z,y) + d(y, 2);
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@ p= b dy (o) = ( 5 hou i)

(b) co— i doo(,y) = max|z; — y;;

B AR RS (X, d) R

(Q) 3:':;* B(x(),?") = {J} € X|d(x7x0) < T};

(b) MHEk: B(xo,r) = {2z € X|d(x,x0) <71};

(© BKiH: S(xo,7) = {z € X|d(x,20) = 1};

- e— QB3 Pk B(xo,€) FRA o B> e— 2Bk

(@ FF&: JERZE (X, d), M C X, #MEREITER ©o € M, f74E. € > 0,
15 B(xo,e) € M, WIFR M 2 X HHIFFEE;

(b) A FHZE (X, d), K ¢ X, & K° = X|K 248, WK K 2
X H A

© Wi Eiash (X,d), M C X,z0 € M, #1714 ¢ > 0, {fif5
B(wg,e) C M, WFR 2z, & M BN

(d) PR M A A RN SRR A FRN M OPER, 188 M©;
RS B X PRI R RS BR B O

- ARFhES ] WA R AR A ] (X, E), EX WAL X
(e

- R WD FEimaE (X, d), M C X, x0 € X, 47, xo IFE— e— 2K
R DRA—DARET xo FA Yo € M, WIFK xo & M IR



(@) T8 M RS ERNESTRN M 38, 128 M’
(b) [HfL: M = MU M’;

(© 114 OM = M — M
8. AW ISRHLA T F AT RO TR
(@) TSI #HATITRIGEIERS, (15 F AU N i T %
L YA AT S
() WA AFRYERINT FISRGTR  T
© Au(n € N) KA A = U A, BFTSIS
i it TR s AT Q AT
S
@ HOLMRRTSISE TR, SHUE R,
9. Fm T i (X,d), M C X, % M = X, WFK M 1 X s,
M 2 X P T
10, T4 2 X A MBI TS M. U X R4, (X, d) /2

AT 42
(@ FWWA 25 (R?,dy)(1 < p < o0), (I7,dy)(1 < p < o0), Hrf
= {{x;},i €N, Z |z;|P < co}s

i PR IEﬂT/\ (Cla, b], dinaz)
Amaz(f,g) = max [f(t) — g(t)|

a<t<b

Cla, bl ={f : [a,b] — R[3f'(t)}
(b) H WAH 72500 (1%, doo )
1°° ={(z;)]i €N, sug |5L‘Z| < oo}
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(@) ¥ (X, d) RAT—E R, AEWT i d(z,y) = To52s £ X EEX
TH—AERL BAE dERTT, X R R




T
HEB Va,y € X, d(z,y) & X _Eiy—AEE:
1E e
cd iR X RN
cod(z,yy) > 0 H 1+d(x,y) > 1,V2,y €

X;
() = gy
cod(x,y) >0
HFRIE:

cd(zyy) =d(y,x),Ve,y € X;

sy @) = 11(5(;)@ = 11(55(25’,)@;) = d(x,y);

=LA

Fid(x,y) WL d(x, 2) < d(x,y)+d(y, 2),Va,y, z €
X;

WAASRAT d(w, 2) — d(y, 2) < d(z,y);
d(z,z) < d(z,y) +d(y, 2) < d(z,2) —
d(y,z) < d(z,y);

.7 7 _ d(z,2)—d(y,z)
cod(@, z)—=d(y, z) = Trd(z,2)+d(y, z)+zc!t(x D) =
d(z,y)

14+d(z,2)+d(y,z)+d(z,2)d(y, z)
vz, 2) +d(y, 2) 2 d(z,y);

cod(w,2)=d(y, z) < 1+d(w,y)d-i(-:(pi’(7i)7z)d(y7z);
cd(x,z) > 0,d(y,2) > 0= d(z, 2)d(y, z) >
0;
.uJ@;@-xyy)_]jggy d(z,y),
Al d(z,z) < d(z,y) +d(y, 2);
zi b d(x,y) & X Ei—
EBTEE R d(x,y) T X mﬁﬁﬁﬁ
i d(e,y) = Tigly Hod(z,y) > 0;
SEXLd KT d ERd(d) = 125,d > 0;
yduy_de>o
sd'(d) =

(1+d)2 > 0;



_-.Jmaw(d): lim -4 =1;

d—+oo 1+d —
omaxd(d) = sup d(z,y) = 1(EF %
d>0 TEX,yEX

HFIAT5IN d(X) = 1 < 400);




